

## Fuzzy Baire Spaces and Functions

G. Thangaraj and S. Anjalmoose

*Department of Mathematics, Thiruvalluvar University  
Vellore-632 115, Tamilnadu, India.  
Research Scholar, Department of Mathematics  
Thiruvalluvar University, Vellore-632 115, Tamilnadu, India.*

### Abstract

In this paper some results concerning functions that preserve fuzzy Baire spaces in the context of images and preimages are obtained. Several examples are given to illustrate the concepts introduced in this paper.

**KEY WORDS:** Fuzzy nowhere dense set, Fuzzy first category set, Fuzzy Baire Space, Fuzzy continuous, Fuzzy semi-continuous, Somewhat Fuzzy continuous, Fuzzy open and Somewhat Fuzzy open functions.

**2000 AMS Classification:** 54A40, 03E72.

### INTRODUCTION

The fuzzy concept has invaded almost all branches of Mathematics ever since the Introduction of fuzzy set by L. A. ZADEH [12]. The theory of fuzzy topological spaces was introduced and developed by C. L. CHANG [2]. Since then much attention has been paid to generalize the basic concepts of General Topology in fuzzy setting and thus a modern theory of Fuzzy Topology has been developed. In recent years, fuzzy topology has been found to be very useful in solving many practical problems. In [4] El. Naschie showed that the notion of fuzzy topology might be relevant to Quantum Particle Physics and Quantum Gravity in connection with String Theory and  $\epsilon^\infty$  Theory. Tang [5] used a slightly changed version of Chang's fuzzy topological spaces to model spatial objects for GIS data bases and Structured Query Language (SQL) for GIS. In classical topology functions that preserve Baire spaces in the context of images and pre-images are studied in [3], [9], [10] and [11]. In this paper some results concerning functions that preserve fuzzy Baire spaces in the context of images and pre-images are obtained. Several examples are given to illustrate the concepts introduced in this paper.

## PRELIMINARIES

By a fuzzy topological space we shall mean a non-empty set  $X$  together with a fuzzy topology  $T$  (in the sense of Chang) and denote it by  $(X, T)$ .

Let  $\lambda$  and  $\mu$  be any two fuzzy sets in  $(X, T)$ . Then we define  $\lambda \vee \mu: X \rightarrow [0, 1]$  and  $\lambda \wedge \mu: X \rightarrow [0, 1]$  as follows:

- $(\lambda \vee \mu)(x) = \text{Max} \{ \lambda(x), \mu(x) \}$  and  $(\lambda \wedge \mu)(x) = \text{Min} \{ \lambda(x), \mu(x) \}$ .

Let  $(X, T)$  be any fuzzy topological space and  $\lambda$  be any fuzzy set in  $(X, T)$ . We define  $\text{Cl}(\lambda) = \bigwedge \{ \mu / \lambda \leq \mu, 1 - \mu \in T \}$  and  $\text{int}(\lambda) = \bigvee \{ \mu / \mu \leq \lambda, \mu \in T \}$ . For any fuzzy set  $\lambda$  in a fuzzy topological space  $(X, T)$ , it is easy to see that  $1 - \text{cl}(\lambda) = \text{int}(1 - \lambda)$  and  $1 - \text{int}(\lambda) = \text{cl}(1 - \lambda)$  [1].

Let  $(X, T)$  and  $(Y, S)$  be any two fuzzy topological spaces. Let  $f$  be a function from the fuzzy topological space  $(X, T)$  to the fuzzy topological space  $(Y, S)$ . Let  $\lambda$  be a fuzzy set in  $(Y, S)$ . The inverse image of  $\lambda$  under  $f$  written as  $f^{-1}(\lambda)$  is the fuzzy set in  $(X, T)$  defined by  $f^{-1}(\lambda)(x) = \lambda(f(x))$  for all  $x \in X$ . Also the image of  $\lambda$  in  $(X, T)$  under  $f$  written as  $f(\lambda)$  is the fuzzy set in  $(Y, S)$  defined by

$$f(\lambda)(y) = \begin{cases} \sup_{x \in f^{-1}(y)} \lambda(x) & \text{if } f^{-1}(y) \text{ is non - empty;} \\ 0 & \text{otherwise.} \end{cases}$$

for each  $y \in Y$ .

**Lemma [2]:** Let  $f: (X, T) \rightarrow (Y, S)$  be a mapping. For fuzzy sets  $\lambda$  and  $\mu$  of  $(X, T)$  and  $(Y, S)$  respectively, the following statements hold.

- $f f^{-1}(\mu) \leq \mu$ ;
- $f^{-1} f(\lambda) \geq \lambda$ ;
- $f(1 - \lambda) \geq 1 - f(\lambda)$ ;
- $f^{-1}(1 - \mu) = 1 - f^{-1}(\mu)$ ;
- If  $f$  is injective, then  $f^{-1} f(\lambda) = \lambda$ ;
- If  $f$  is surjective, then  $f f^{-1}(\mu) = \mu$ ;
- If  $f$  is bijective, then  $f(1 - \lambda) = 1 - f(\lambda)$ .

A fuzzy set  $\lambda$  in a fuzzy topological space  $(X, T)$  is called a fuzzy dense set if there exists no fuzzy closed set  $\mu$  in  $(X, T)$  such that  $\lambda < \mu < 1$  [6].

A fuzzy set  $\lambda$  in a fuzzy topological space  $(X, T)$  is called a fuzzy nowhere dense set if there exists no non-zero fuzzy open set  $\mu$  in  $(X, T)$  such that  $\mu < \text{cl}(\lambda)$ . That is,  $\text{int} \text{cl}(\lambda) = 0$  [8].

A fuzzy set  $\lambda$  in a fuzzy topological space  $(X, T)$  is called a fuzzy semi-open if  $\lambda \leq \text{cl} \text{int}(\lambda)$  [1]. The complement of  $\lambda$  in  $(X, T)$  is called fuzzy semi-closed [1].

A fuzzy set  $\lambda$  in a fuzzy topological space  $(X, T)$  is called fuzzy first category if  $\lambda = \bigvee_{i=1}^{\infty} (\lambda_i)$  where  $\lambda_i$ 's are fuzzy nowhere dense sets in  $(X, T)$ . Any other fuzzy

set in  $(X, T)$  is said to be of second category [6]. Let  $\lambda$  be a fuzzy first category set in  $(X, T)$ .

Then  $1 - \lambda$  is called a fuzzy residual set in  $(X, T)$  [8].

### FUZZY BAIRE SPACES and FUNCTIONS

**Definition 3. 1:** Let  $(X, T)$  be a fuzzy topological space. Then  $(X, T)$  is called a fuzzy Baire Space if  $\text{int}(\bigvee_{i=1}^{\infty} (\lambda_i)) = 0$  where  $\lambda_i$ 's are fuzzy nowhere dense sets in  $(X, T)$  [8].

**Definition 3. 2:** A function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is said to be fuzzy open if the image of every fuzzy open set in  $(X, T)$  is fuzzy open in  $(Y, S)$  [1].

**Definition 3. 3:** A function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is called fuzzy continuous if  $f^{-1}(\lambda)$  is fuzzy open in  $(X, T)$  for each fuzzy open set  $\lambda$  in  $(Y, S)$  [2].

**Definition 3. 4:** A function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is called fuzzy semi-continuous if  $f^{-1}(\lambda)$  is fuzzy semi-open in  $(X, T)$  for each fuzzy open set  $\lambda$  in  $(Y, S)$  [1].

**Definition 3. 5:** A function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is called somewhat fuzzy continuous if  $\lambda \in S$  and  $f^{-1}(\lambda) \neq 0$  implies that there exist a fuzzy open set  $\mu$  in  $(X, T)$  such that  $\mu \neq 0$  and  $\mu \leq f^{-1}(\lambda)$  [6].

**Definition 3. 6:** A function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is called somewhat fuzzy open if  $\lambda \in T$  and  $\lambda \neq 0$  implies that there exists a fuzzy open set  $\mu$  in  $(Y, S)$  such that  $\mu \neq 0$  and  $\mu \leq f(\lambda)$  [6].

**Theorem 3. 1[8]:** Let  $(X, T)$  be a fuzzy topological space. Then the following are equivalent:

1.  $(X, T)$  is a fuzzy Baire space.
2.  $\text{Int}(\lambda) = 0$  for every fuzzy first category set  $\lambda$  in  $(X, T)$ .
3.  $\text{cl}(\mu) = 1$  for every fuzzy residual set  $\mu$  in  $(X, T)$ .

Let  $f$  be a function from the fuzzy topological space  $(X, T)$  to the fuzzy topological space  $(Y, S)$ . Under what Conditions on "  $f$  " may we assert that if  $(X, T)$  is a fuzzy Baire Space, then  $(Y, S)$  is a fuzzy Baire Space? It may be noticed that the fuzzy continuous image of a fuzzy Baire Space may fail to be a fuzzy Baire Space. For, consider the following example.

**Example 3. 1:** Let  $X = \{ a, b \}$ . The fuzzy sets  $\lambda$ ,  $\mu$  and  $\nu$  are defined on  $X$  as follows:

- $\lambda: X \rightarrow [0, 1]$  is defined as  $\lambda(a) = 0.5$ ;  $\lambda(b) = 0.7$ .
- $\mu: X \rightarrow [0, 1]$  is defined as  $\mu(a) = 0.8$ ;  $\mu(b) = 0.4$ .
- $\nu: X \rightarrow [0, 1]$  is defined as  $\nu(a) = 0.2$ ;  $\nu(b) = 0.6$ .

Then,  $T = \{ 0, \lambda, \mu, \nu, \lambda \vee \mu, \mu \vee \nu, \lambda \wedge \mu, \mu \wedge \nu, 1 \}$  and  $S = \{ 0, \lambda, \mu, \lambda \vee \mu, \lambda \wedge \mu, 1 \}$  are fuzzy topologies on  $X$ . Now the fuzzynowhere dense sets in  $(X, T)$  are  $1 - \lambda$  and  $1 - (\lambda \vee \mu)$  and  $[(1 - \lambda) \vee \{1 - (\lambda \vee \mu)\}] = 1 - \lambda$  and  $\text{int} [(1 - \lambda)] = 0$ . Hence  $(X, T)$  is a fuzzy Baire Space. The fuzzynowhere dense sets in  $(X, S)$  are  $1 - \lambda$ ,  $1 - \mu$  and  $1 - (\lambda \vee \mu)$  and  $[(1 - \lambda) \vee (1 - \mu) \vee \{1 - (\lambda \vee \mu)\}] = 1 - (\lambda \wedge \mu)$  and  $\text{Int} [1 - (\lambda \wedge \mu)] = (\lambda \wedge \mu) \neq 0$ . Hence  $(X, S)$  is not a fuzzy Baire Space.

Define a function  $f: (X, T) \rightarrow (X, S)$  by  $f(a) = a$  and  $f(b) = b$ . Clearly  $f$  is a fuzzy continuous function from the fuzzy Baire space  $(X, T)$  to the fuzzy topological space  $(Y, S)$  which is not a fuzzy Baire Space.

It may be also noticed that the image of a fuzzy Baire Space under a fuzzy open function may fail to be a fuzzy Baire Space. For, Consider the following example.

**Example 3. 2:** Let  $X = \{ a, b, c \}$ . The fuzzy sets  $\lambda$ ,  $\mu$  and  $\nu$  are defined on  $X$  as follows:

- $\lambda: X \rightarrow [0, 1]$  is defined as  $\lambda(a) = 0.6$ ;  $\lambda(b) = 0.4$ ;  $\lambda(c) = 0.3$ .
- $\mu: X \rightarrow [0, 1]$  is defined as  $\mu(a) = 0.5$ ;  $\mu(b) = 0.7$ ;  $\mu(c) = 0.2$ .
- $\nu: X \rightarrow [0, 1]$  is defined as  $\nu(a) = 0.7$ ;  $\nu(b) = 0.5$ ;  $\nu(c) = 0.6$ .

Then,  $T = \{ 0, \lambda, 1 \}$  and  $S = \{ 0, \lambda, \mu, \nu, \lambda \vee \mu, \mu \vee \nu, \lambda \wedge \mu, \mu \wedge \nu, 1 \}$  are fuzzy topologies on  $X$ . Now the fuzzynowhere dense sets in  $(X, T)$  are  $1 - \lambda$ ,  $1 - \nu$  and  $[(1 - \lambda) \vee \nu] = 1 - \lambda$  and  $\text{int} [(1 - \lambda)] = 0$ . Hence  $(X, T)$  is a fuzzy Baire Space. The fuzzynowhere dense sets in  $(X, S)$  are  $1 - \lambda$ ,  $1 - \mu$ ,  $1 - \nu$ ,  $1 - (\lambda \vee \mu)$  and  $1 - (\mu \vee \nu)$  and  $[(1 - \lambda) \vee (1 - \mu) \vee (1 - \nu) \vee \{1 - (\lambda \vee \mu)\} \vee \{1 - (\mu \vee \nu)\}] = 1 - (\lambda \wedge \mu)$ . Now  $\text{int} [1 - (\lambda \wedge \mu)] = (\mu \wedge \nu) \neq 0$ . Hence  $(X, S)$  is not a fuzzy Baire Space.

Define a function  $f: (X, T) \rightarrow (X, S)$  by  $f(a) = a$  and  $f(b) = b$  and  $f(c) = c$ . Clearly  $f$  is a fuzzy open function from the fuzzy Baire space  $(X, T)$  to the fuzzy topological space  $(Y, S)$ , which is not a fuzzy Baire Space.

**Proposition 3. 1:** If a function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is fuzzy continuous, 1-1, onto and fuzzy open function, then for any fuzzy set  $\lambda$  in  $(X, T)$   $\text{int} \text{cl} [f(\lambda)] \leq f(\text{int}(\text{cl}(\lambda)))$ .

**Proof:** Let  $\lambda$  be a fuzzy set in  $(X, T)$ . Then  $\lambda \leq \text{cl}(\lambda)$  in  $(X, T)$  implies that  $1 - \text{cl}(\lambda) \leq (1 - \lambda)$ . Then  $f(1 - \text{cl}(\lambda)) \leq f(1 - \lambda)$ . Since  $f$  is a fuzzy open function and  $1 - \text{cl}(\lambda)$  is a fuzzy open set in  $(X, T)$ ,  $f(1 - \text{cl}(\lambda))$  is a fuzzy open set in  $(Y, S)$  such that  $f(1 - \text{cl}(\lambda)) \leq f(1 - \lambda)$ . But  $\text{int} f(1 - \lambda)$  is the largest fuzzy open in  $(Y, S)$  such that  $\text{int} [f(1 - \lambda)] \leq f(1 - \lambda)$ . Hence we have that  $f(1 - \text{cl}(\lambda)) \leq \text{int} [f(1 - \lambda)]$ . Since  $f$  is 1-1 and onto,  $f(1 - \lambda) = 1 - f(\lambda)$ . Hence  $(1 - f(\text{cl}(\lambda))) \leq \text{int} [1 - f(\lambda)]$ .

—  $f(\lambda)$  ] which implies that  $(1 - f[\text{cl}(\lambda)]) \leq (1 - \text{cl}[f(\lambda)])$ . Then  $\text{cl}[f(\lambda)] \leq f[\text{cl}(\lambda)]$ , which implies that  $\text{int} \text{cl}[f(\lambda)] \leq \text{int}(f[\text{cl}(\lambda)])$ . Therefore we have  $f^{-1}(\text{int} \text{cl}[f(\lambda)]) \leq f^{-1}(\text{int}(f[\text{cl}(\lambda)])) \dots (1)$ . Now  $\text{int}[f(\text{cl}(\lambda))]$  is a fuzzy open set in  $(Y, S)$ . Since  $f$  is fuzzy continuous  $f^{-1}(\text{int}[f(\text{cl}(\lambda))])$  is a fuzzy open set in  $(X, T)$ . Hence  $f^{-1}(\text{int}(f[\text{cl}(\lambda)])) = \text{int} f^{-1}(\text{int}(f[\text{cl}(\lambda)])) \leq \text{int}(f^{-1}(f[\text{cl}(\lambda)])) \leq \text{int}(\text{cl}(\lambda))$  [since  $f$  is 1-1]. That is,  $f^{-1}(\text{int}(f[\text{cl}(\lambda)])) \leq \text{int}(\text{cl}(\lambda)) \dots (2)$ .

From (1) and (2), we have  $f^{-1}(\text{int} \text{cl}[f(\lambda)]) \leq \text{int}(\text{cl}(\lambda))$  which implies that  $f^{-1}(\text{int} \text{cl}[f(\lambda)]) \leq f(\text{int}(\text{cl}(\lambda)))$ . Since  $f$  is onto, we have  $(\text{int} \text{cl}[f(\lambda)]) \leq f(\text{int}(\text{cl}(\lambda)))$ .

**Proposition 3. 2:** If a function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is fuzzy continuous and fuzzy open function, then for any fuzzy set  $\lambda$  in  $(X, T)$   $f(\text{int}(\text{cl}(\lambda))) \leq \text{int}(\text{cl}[f(\lambda)])$ .

**Proof:** Let  $\lambda$  be any fuzzy set in  $(X, T)$ . Then  $\text{int}(\text{cl}(\lambda))$  is a fuzzy open set in  $(X, T)$ .

Since  $f$  is a fuzzy open function,  $f(\text{int}(\text{cl}(\lambda)))$  is a fuzzy open set in  $(Y, S)$ .

Now  $f(\text{int}(\text{cl}(\lambda))) \leq f(\text{cl}(\lambda))$ . Since  $f$  is fuzzy continuous,  $f(\text{cl}(\lambda)) \leq \text{cl}(f(\lambda))$ .

Hence we have  $f(\text{int}(\text{cl}(\lambda))) \leq \text{cl}(f(\lambda))$ . But  $\text{int}(\text{cl}[f(\lambda)]) \leq \text{cl}(f(\lambda))$ . Therefore, we have  $f(\text{int}(\text{cl}(\lambda))) \leq (\text{int}(\text{cl}[f(\lambda)]))$ .

**Proposition 3. 3:** If a function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is fuzzy continuous, fuzzy open, 1-1 and onto function, then for any fuzzy set  $\lambda$  in  $(X, T)$ ,  $f(\text{int}(\text{cl}(\lambda))) = \text{int}(\text{cl}[f(\lambda)])$ .

**Proof:** Let  $\lambda$  be any fuzzy set in  $(X, T)$ . Since  $f$  is fuzzy continuous, 1-1, onto and fuzzy open function, by proposition 3. 1, we have  $\text{int} \text{cl}[f(\lambda)] \leq f(\text{int}(\text{cl}(\lambda))) \dots (1)$ .

Since  $f$  is a fuzzy continuous and a fuzzy open function, by proposition 3. 2, we have  $f(\text{int}(\text{cl}(\lambda))) \leq \text{int}(\text{cl}[f(\lambda)]) \dots (2)$ . From (1) and (2), we have,  $f(\text{int}(\text{cl}(\lambda))) = \text{int}(\text{cl}[f(\lambda)])$ .

**Proposition 3. 4:** Let the function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  be fuzzy continuous, fuzzy open, 1-1 and onto function. Then, for any fuzzy set  $\lambda$  in  $(X, T)$ ,  $\lambda$  is a fuzzy nowhere dense set in  $(X, T)$  if and only if  $f(\lambda)$  is a fuzzy nowhere dense set in  $(Y, S)$ .

**Proof:** Let  $\lambda$  be a fuzzy nowhere dense set in  $(X, T)$ . Then,  $\text{int} \text{cl}(\lambda) = 0$ . Since  $f$  is fuzzy continuous, fuzzy open, 1-1 and onto function, by proposition 3. 3, we have,  $f(\text{int}(\text{cl}(\lambda))) = \text{int}(\text{cl}[f(\lambda)])$ . Then,  $\text{int}(\text{cl}[f(\lambda)]) = f(0) = 0$ . Hence  $f(\lambda)$  is a fuzzy nowhere dense set in  $(Y, S)$ .

Conversely, let  $f(\lambda)$  be a fuzzy nowhere dense set in  $(Y, S)$ .

Then,  $\text{int}(\text{cl}[f(\lambda)]) = 0$ . Hence  $f(\text{int}(\text{cl}(\lambda))) = \text{int}(\text{cl}[f(\lambda)])$  implies that  $f(\text{int}(\text{cl}(\lambda))) = 0$ .

Therefore  $f^{-1}f(\text{int}(\text{cl}(\lambda))) = f^{-1}(0) = 0$ . Since  $f$  is 1-1,  $\text{int}(\text{cl}(\lambda)) = 0$ . Hence  $\lambda$  is a fuzzy nowhere dense set in  $(X, T)$ .

**Proposition 3. 5:** Let the function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  be fuzzy continuous, fuzzy open, 1-1 and onto function. If  $(X, T)$  is a fuzzy Baire Space, then  $(Y, S)$  is a fuzzy Baire Space.

**Proof:** Let  $\lambda$  be a fuzzy first category set in  $(Y, S)$ . Then  $\lambda = \bigvee_{i=1}^{\infty} (\lambda_i)$  where  $\lambda_i$ 's are fuzzy nowhere dense sets in  $(Y, S)$ . Since  $f$  is onto,  $f^{-1}(\lambda_i) = \lambda_i$  and hence  $\lambda = \bigvee_{i=1}^{\infty} f^{-1}(\lambda_i)$  and therefore,  $f^{-1}(\lambda_i)$  are fuzzy nowhere dense sets in  $(Y, S)$ . Since  $f$  is fuzzy continuous, fuzzy open, 1-1 and onto function, by proposition 3. 4, we have  $f^{-1}(\lambda_i)$  is a fuzzy nowhere dense set in  $(X, T)$ . Let  $\mu = \bigvee_{i=1}^{\infty} f^{-1}(\lambda_i)$ . Then  $\mu$  is a fuzzy first category set in  $(X, T)$ . Since  $(X, T)$  is a fuzzy Baire Space,  $\text{int}(\mu) = 0$ . Then we have  $\text{int}(\bigvee_{i=1}^{\infty} f^{-1}(\lambda_i)) = 0$  which implies that  $\text{int}(f^{-1}(\bigvee_{i=1}^{\infty} (\lambda_i))) = 0$ . Then, we have  $f(\text{int}(f^{-1}(\bigvee_{i=1}^{\infty} (\lambda_i)))) = f(0) = 0$ . Since  $f$  is a continuous function, we have  $f^{-1}(\text{int}(\bigvee_{i=1}^{\infty} (\lambda_i))) \leq \text{int}(f^{-1}(\bigvee_{i=1}^{\infty} (\lambda_i)))$ .

$$\text{Hence } f^{-1}(\text{int}(\bigvee_{i=1}^{\infty} (\lambda_i))) \leq f(\text{int}(f^{-1}(\bigvee_{i=1}^{\infty} (\lambda_i)))) = 0 \implies f^{-1}(\text{int}(\bigvee_{i=1}^{\infty} (\lambda_i))) = 0.$$

Since  $f$  is onto,  $\text{int}(\bigvee_{i=1}^{\infty} (\lambda_i)) = 0$ . That is,  $\text{int}(\lambda) = 0$ . Hence by theorem 3. 1.,  $(Y, S)$  is a fuzzy Baire Space.

**Proposition 3. 6:** If the function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is fuzzy semi-continuous and somewhat fuzzy open function and if  $\lambda$  is a fuzzy nowhere dense set in  $(Y, S)$ . then  $f^{-1}(\lambda)$  is a fuzzy nowhere dense set in  $(X, T)$ .

**Proof:** Let  $\lambda$  be a fuzzy nowhere dense set in  $(Y, S)$ . Then,  $1 - \text{cl}(\lambda)$  is a fuzzy dense set in  $(Y, S)$  [8]. Since  $f$  is somewhat fuzzy open,  $f^{-1}(1 - \text{cl}(\lambda))$  is a fuzzy dense set in  $(X, T)$ . That is,  $\text{cl}[f^{-1}(1 - \text{cl}(\lambda))] = 1$ . Now  $1 - \text{cl}(\lambda)$  is a fuzzy open set in  $(Y, S)$ . Since  $f$  is fuzzy semi-continuous  $f^{-1}(1 - \text{cl}(\lambda))$  is a fuzzy semi-open set in  $(X, T)$ . Then  $f^{-1}(1 - \text{cl}(\lambda)) \leq \text{cl int } f^{-1}(1 - \text{cl}(\lambda))$  implies that  $f^{-1}(1 - \text{cl}(\lambda)) \leq \text{cl int}(1 - f^{-1}[\text{cl}(\lambda)])$ . Hence  $f^{-1}(1 - \text{cl}(\lambda)) \leq \text{cl}(1 - \text{cl}[f^{-1}(\text{cl}(\lambda))])$  which implies that  $\text{cl } f^{-1}(1 - \text{cl}(\lambda)) \leq \text{cl } \text{cl}(1 - \text{cl}[f^{-1}(\text{cl}(\lambda))])$ . Then, from (1),  $1 \leq \text{cl}(1 - \text{cl}[f^{-1}(\text{cl}(\lambda))])$ . That is,  $\text{cl}(1 - \text{cl}[f^{-1}(\text{cl}(\lambda))]) = 1$  which implies that  $1 - \text{int } \text{cl}[f^{-1}(\text{cl}(\lambda))] = 1$  and hence  $\text{int } \text{cl}[f^{-1}(\text{cl}(\lambda))] = 0$ . Therefore we have  $\text{int } \text{cl}[f^{-1}(\lambda)] = 0$ . Hence  $f^{-1}(\lambda)$  is a fuzzy nowhere dense set in  $(X, T)$ .

**Proposition 3. 7:** If the function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is fuzzy semi-continuous and somewhat fuzzy open function and if  $\lambda$  is a fuzzy first category set in  $(Y, S)$ . then  $f^{-1}(\lambda)$  is a fuzzy first category set in  $(X, T)$ .

**Proof:** Let  $\lambda$  be a fuzzy first category set in  $(Y, S)$ . Then  $\lambda = \bigvee_{i=1}^{\infty} (\lambda_i)$  where  $\lambda_i$ 's are fuzzy nowhere dense sets in  $(Y, S)$ . Since  $f$  is a fuzzy semi-continuous and

somewhat fuzzy open function, by proposition 3. 6,  $f^{-1}(\lambda_i)$  is a fuzzy nowhere dense set in  $(X, T)$  for each fuzzy nowhere dense set  $\lambda_i$  in  $(Y, S)$ . Then we have  $f^{-1}(\lambda) = f^{-1}(\bigvee_{i=1}^{\infty} \lambda_i) = (\bigvee_{i=1}^{\infty} f^{-1}(\lambda_i))$ . Since  $f^{-1}(\lambda_i)$ 's are fuzzy nowhere dense sets in  $(X, T)$ ,  $f^{-1}(\lambda)$  is a fuzzy first category set in  $(X, T)$ .

**Proposition 3. 8:** If the function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is fuzzy semi-continuous and somewhat fuzzy open and somewhat fuzzy continuous function and if  $(X, T)$  is a fuzzy Baire Space  $(Y, S)$ , then  $(Y, S)$  is a fuzzy Baire Space.

**Proof:** Let  $\lambda$  be a fuzzy first category set in  $(Y, S)$ . Then, by proposition 3. 7  $f^{-1}(\lambda)$  is a fuzzy first category set in  $(X, T)$ . Since  $(X, T)$  is a fuzzy Baire Space  $\text{int}(f^{-1}(\lambda)) = 0$ . We now claim that  $\text{int}(\lambda) = 0$ . Suppose  $\text{int}(\lambda) \neq 0$ . Then there exists a non-zero fuzzy open set  $\mu$  in  $(Y, S)$  such that  $\mu \leq \lambda$ . Then  $f^{-1}(\mu) \leq f^{-1}(\lambda)$ .

Since  $\mu$  is a non-zero fuzzy open set  $\mu$  in  $(Y, S)$  and  $f^{-1}(\mu) \neq 0$  and since  $f$  is a somewhat fuzzy continuous function, there exists a non-zero fuzzy open set  $\nu$  in  $(X, T)$  such that  $\nu \leq f^{-1}(\mu)$ . Hence  $\nu \leq f^{-1}(\mu) \leq f^{-1}(\lambda)$ . That is,  $\text{int}(f^{-1}(\lambda)) \neq 0$ , which is a contradiction to  $\text{int}(f^{-1}(\lambda)) = 0$ . Hence we must have  $\text{int}(\lambda) = 0$  and therefore  $(Y, S)$  is a fuzzy Baire Space.

**Theorem 3. 2 [7]:** If the function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is somewhat fuzzy continuous and 1-1 and onto and if  $\text{cl}(\text{int}(\lambda)) = 1$  for any non-zero fuzzy set  $\lambda$  in  $(X, T)$ , then  $\text{cl}[\text{int}(f(\lambda))] = 1$  in  $(Y, S)$ .

**Proposition 3. 9:** If the function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is somewhat fuzzy continuous, 1-1 and onto function and if  $\lambda$  is a fuzzy nowhere dense set in  $(X, T)$  for any fuzzy set  $\lambda$  in  $(X, T)$ , then  $f(\lambda)$  is a fuzzy nowhere dense set in  $(Y, S)$ .

**Proof:** Let  $\lambda$  be a fuzzy nowhere dense set in  $(X, T)$ . Then,  $\text{int}(\text{cl}(\lambda)) = 0$ . Then  $1 - \text{int}(\text{cl}(\lambda)) = 1$  which implies that  $\text{cl}(\text{int}(1 - \lambda)) = 1$ . Since  $f$  is a somewhat fuzzy continuous function, by theorem 3. 2,  $\text{cl}(\text{int}(f(1 - \lambda))) = 1$ . Since  $f$  is 1-1 and onto,  $f(1 - \lambda) = 1 - f(\lambda)$ . Then  $\text{cl}(\text{int}(1 - f(\lambda))) = 1$  and hence  $1 - \text{int}(\text{cl}(f(\lambda))) = 1$ . That is,  $\text{int}(\text{cl}(f(\lambda))) = 0$ . Hence  $f(\lambda)$  is a fuzzy nowhere dense set in  $(Y, S)$ .

**Proposition 3. 10:** If the function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is a somewhat fuzzy continuous, 1-1 and onto function and if  $\lambda$  is a fuzzy first category set in  $(X, T)$  then  $f(\lambda)$  is a fuzzy first category set in  $(Y, S)$ .

**Proof:** Let  $\lambda$  be a fuzzy first category set in  $(X, T)$ . Then  $\lambda = \bigvee_{i=1}^{\infty} \lambda_i$  where  $\lambda_i$ 's are fuzzy nowhere dense sets in  $(X, T)$ . Then  $f(\lambda) = f(\bigvee_{i=1}^{\infty} \lambda_i)$ . Since  $f$  is 1-1 and onto,  $f(\lambda) = \bigvee_{i=1}^{\infty} f(\lambda_i)$ . Since  $f$  is a somewhat fuzzy continuous and  $\lambda$  is a

fuzzy nowhere dense set in  $(X, T)$ , by proposition 3. 9,  $f(\lambda_i)$  is a fuzzy nowhere dense set in  $(Y, S)$ . Therefore  $f(\lambda)$  is a fuzzy first category set in  $(Y, S)$ .

**Proposition 3. 11:** If the function  $f: (X, T) \rightarrow (Y, S)$  from a fuzzy topological space  $(X, T)$  into another fuzzy topological space  $(Y, S)$  is a somewhat fuzzy continuous, somewhat fuzzy open and 1-1 and onto function and if  $(Y, S)$  is a fuzzy Baire Space  $(Y, S)$ , then  $(X, T)$  is a fuzzy Baire Space.

**Proof:** Let  $\lambda$  be a fuzzy first category set in  $(X, T)$ . Since  $f$  is a fuzzy somewhat continuous, 1-1 and onto function, by proposition 3. 10,  $f(\lambda)$  is a fuzzy first category set in  $(Y, S)$ . Since  $(Y, S)$  is a fuzzy Baire space, we have  $\text{int}[f(\lambda)] = 0$ . We now claim that  $\text{int}(\lambda) = 0$ . Suppose  $\text{int}(\lambda) \neq 0$ . Then there exists a non-zero fuzzy open set  $\mu$  in  $(X, T)$  such that  $\mu \leq \lambda$ . Then  $f(\mu) \leq f(\lambda)$ . Since  $\mu$  is a non-zero fuzzy open set in  $(X, T)$  and  $f(\mu) \neq 0$  and  $f$  is a somewhat fuzzy open function, there exists a non-zero fuzzy open set  $\nu$  in  $(Y, S)$  such that  $\nu \leq f(\mu)$ . Hence  $\nu \leq f(\mu) \leq f(\lambda)$ . That is,  $\text{int}[f(\lambda)] \neq 0$ , which is a contradiction to  $\text{int}[f(\lambda)] = 0$ . Hence  $\text{int}(\lambda) = 0$  for a fuzzy first category set in  $(X, T)$  and therefore, by theorem 3. 1,  $(X, T)$  is a fuzzy Baire space.

## REFERENCES

- [1] K. K. AZAD, On Fuzzy Semi continuity, Fuzzy Almost Continuity and Fuzzy Weakly Continuity, *J. Math. Anal. Appl.* 82 (1981), 14 – 32.
- [2] C. L. CHANG, Fuzzy Topological Spaces, *J. Math. Anal. Appl.* 24, (1968), 182 – 190.
- [3] MUSTAFA CICEK, On The Invariance of Baire Spaces under the Various Types of Mappings, *Commun. Fac. Sci. Univ. Ank. Series A<sub>1</sub>*, V. 43 (1994), 137 – 155.
- [4] M. S. EL. NASCHIE, On the Certification of heterotic Strings, *MTheory and  $\epsilon^\infty$ Theory, Chaos, Solitons and Fractals* (2000), 2397 – 2408.
- [5] X TANG, Spatial Object modeling in fuzzy topological spaces with applications to land cover change in China, Ph. D. Dissertation, University of Twente, Enschede, The Netherlands, 2004 ITC Dissertation No. 108.
- [6] G. THANGARAJ and G. BALASUBRAMANIAN, On Somewhat Fuzzy Continuous Functions, *J. Fuzzy Math.*, Vol. 11, No. 2, (2003), 1–12.
- [7] G. THANGARAJ and V. SEENIVASAN, On FUZZY STRONGLY IRRESOLVABLE SPACES. *Proc Nat. Conference on Fuzzy Math. and Graph Theory* (Jamal Mohamed College, Trichy, Tamilnadu, India), (2008), 1–7.
- [8] G. THANGARAJ and S. ANJAL MOSE, On Fuzzy Baire Spaces, (Communicated to *Journal of Fuzzy Mathematics*, California, U. S. A. ).
- [9] TIBOR NEUBRUNN, A note on mapping of Baire spaces, *Mathematica Slovaca*, Vol. 27 (1977), No. 2, 173 – 176.
- [10] ZDENEK FROLIK, Baire Spaces and Some generalizations of complete metric spaces, *Czech. Math. Journal*, Vol. 11 (1961), No. 2, 237 – 248.



- [11] ZDENEK FROLIK, Remarks concerning the invariance of Baire spaces under mappings, Czech. Math. Journal, Vol. 11 (1961) , No. 3, 381 – 385.
- [12] L. A . ZADEH, Fuzzy Sets, Information and Control, Vol. 8 (1965) , 338– 358.

